Multiplier des fractions mixtes négatives (A)
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Calculez chaque produit.

p—

\O| 00

N—
Il

w
N A
~—

I

B

I

[\
—
=| &
N—"

X

I

w
O | W
N—

Il

1 3
6 1§X<_51_o> =
1 7
(=22 ) x (=12 =
’ ( 5 X( 12)

Note:
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Multiplier des fractions mixtes négatives (A) Réponses

Nom: Date: Note:

Calculez chaque produit.

Loax(g) = 5x(5) - () = ()
2o5x(5) = 5x(F) = () = ()
v (g)x(3) - (S - w5 %
s () - () s % - T R
S e N A - el )
so5x(sg) = 3x(R) - ) = ()
n()xg) s (SR - w5 &
s (CExn) - () - w5 F o5
o ()x(E) s (FE) - F o2 s
oo agx(g) = Sx(5) - (55) = (ox)
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